
Calculus

Important questions (PYQ)
Circle

Plane Geometry

6

Find the equation of the circle passing

through the point (2,4) and which

has its centre at intersection of

x - y =412x
+ 3y=

- z

·(2,Y)
-So I x - y =4 I x 2 (1,8-3)F

2x+by = - 7 X



sy 24 =8

*y=7
- 5y =15

y = - 3.

Puty =
- 3inx - y

=4

x + 3 =4

x =0

Point of intersection of lines is (1, -3)



: Centre of Crick (1, -3)

Now Radius of Circle is

-

((c - 1)"+ (4 - (- x)2

=199 =150

es of Circle is

(x - x) + (y - k)" =r"whereris Radies
(x - 1)" + (y +3) = (650)" (h,K) is Centre

of circle



x+ 1 - 2x + y" +9 + 6y =50

x + y - 2x + by - 40 =0.

which is required ef

⑳ Find the el of Circle which

passes through the point (2,00

and touches the straight line

x+ 2y - 1=0 at the point (3-1)



So! Let ex of Cice is
·(,0)

I
·C

x +y + 2gx + 2ty + c= 0-0
It passes through (2,0)

U+ dy- 1=0P(3-1)

n + 4g +c=0

ng + c=-4. -

et. also passes through (b-1)

9 +1+6g - 27 +c=0
69 - 27+ c=-10-1



subtrace from

ng +c - 6g + 27 - c = - 4 + 10

- ag +27 =
6

29 - 27 = 6
=
0

g - 7 +
3 =0 - Qu

Centre of Circle is (-g,-fl

slope of (P(m,)=



Now slope of x+ay -1 =0 is

mr = -1/2

Also line up and Given line x+ay -1=0

are t to each other.

...m,m =
- 1

[f()) =
-



#
c

- 1-f =6 + 2g

EFITEIN (27.)

g = - 4.



Put g=- 4 in
- n - 1 + 3=0

- f - 1 =0

f = - 1

Put value ofg =-4 in

4g+c =
- 4

4(- 4) + c=- y

- 1 + c = - y

c = - 4 + 16



c = 12.
F

Put value of 8, fic in

x
+

y2- 8x - 2y +12=0.

which is the required et.



③ Find the equation of the circle

which passes through the points

(4, 1) and (6.5) and has its

Centre on the line

4x +y =16

sot let et of circle is
F

x + y2 + 2gx + 2+y +c =0 - 0

① passes through (7,1) (Rivers
16 + 1 +8g + 2f + c =0



&g+ 27 +c+ 17 =0 -

Also 0 Passes through (6,5)

36 + 25 + 12g + 10f + c =0

12g + 10f+ c + x =0-

Subtrace I from

12g +107+4 + 61 - 8g
- 27 - x -1 =0

48 + 87+ 44 =0

g + 2f + 1 =0 -



Now (-g, -f) is Centre of Circe

(-g,-f) lies on the lines

4x +y =16 [eiven]
- 4g -f =16

ng + f + 16 =0 - 0

g +df+1=0xYNER
ftoftheIR



17 + 28 =0

7 = 20 =- 4.

Put value of fin

g + 2f + 1 =0

g - 8+1
=0

g = - 3.

put value of g and fin
c = 15

Now Put value of 9,7.Cin0



x +y- - 6x - 8y + 15=0.

which is the required equation.


